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If 50.3 kd of heat was released when 5.48 g of formic acid are burned at
constant pressure, then what is the enthalpy change of this reaction per

mole of formic acid? & ConClant "E‘C Fsusf
on AN

--S03 Y 5 AH =
O Sl mol HCHO,

Find moles formic acid: e | H CH 01
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Based on the calculation above, can we complete this thermochemical equation?

LHLHOL (L) + Oy [g) —5 L (0 () + LD (¢) o DH = — @4y

Since the equation is based on TWO MOLES of formic acid, and the enthalpy change
above was calculated PER MOLE of formic acid, we need to mulitply that enthalpy

change by fwo to get the correct enthalpy change for the reaction.

')



s Ui (g)« 504lg) —> YO () + 6H0(s)  AH=~906 kT

What is the enthalpy change when 150. L of nitrogen monoxide are formed by this
reaction at 25.0 C and 1.50 atm pressure?

1 - Convert 1560. L of NO tfo moles using ideal gas equation.
2 - Convert moles NO to enthalpy change using thermochemical equation.

PV < nRT P2l.spatny, R :0,0%20¢( s
ol
V\:ﬂ = IS0, T 225,69 = 19%.2 I
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1505) x 305.(5) —> 2h0(0) + 25D, () *(Papentin €

Who’r is the enthalpy change at standard conditions when 25.0 grams of

hydrogen sulfide gas is reacted?
1 - Calculate the enthalpy change of the reaction AS WRITTEN using Hess' Law

2 - Convert 25.0 g hydrogen sulfide to moles using formula weight.
3- Covert moles hydrogen sulfide to enthalpy change using thermochemical equation.

AR = 2 /_SH ,praJ\uo*S - ZAI’? jeat boabg

@ Y_’L( 189 %) + L (196 Q\B [’L ~10. Sa]% 3(033

= —\124. Tt k3
Thermochemm:al equation:

LM S () + 3 05.(g) —> 2H0(0) + 25Dy (g) 5 AHT-1124.2 kD
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Calculate the volume of propane gas at 25.0 C and 1.08 atm required to provide 565 kJ of
heat using the reaction above.

1 - Convert energy requirement to moles PROPANE using thermochemical equation.
2 - Convert moles propane to volume using ideal gas equation.

— 1 - Since the reaction is providing the energy, the
O3 k3 = mol C R H% energy requirement has a NEGATIVE sign - from the

point of view of the REACTION!
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END OF CHAPTER 6



